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N 309 3,268,194 | 114.57 | 1,970 | 18,546,657 | 80.26 | 10,377 | 71,568,936 | 92.15
B e Ik 147 1,238,000 | 157.93 996 8,442,310 | 89.89 | 4,825 | 33,899,405 | 88.77
4 R 101 816,240 | 64.87 745 6,563,548 | 89.07 | 3,318 | 23,660,051 | 90.69
J\ 7% e 41 329,900 | 94.20 345 3,251,850 | 79.89 | 1,716 | 13,679,863 | 90.59
T 40 265,644 | 90. 80 328 2,609,454 | 72.42 | 1,782 | 10,859,730 | 90.88
& Fh 638 5,917,978 | 106.87 | 4,384 | 39,413,819 | 82.90 | 22,018 | 153,667,986 | 90.93
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N il 9 35, 106 390. 27 54 348, 805 96. 61
oE ik 0 o  -—-- 16 72, 609 67. 62
a ) 1 1, 047 0.75 18 194, 954 113. 56
I\ %k 0 0 0. 00 10 37, 315 34.19
F MmO 0 0 0. 00 8 46, 742 51.27
= 5 10 36, 153 22.73 106 700, 425 83. 34
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] A th 5 B X B F | A x | A th 5 A X & it
" % £ # il € % ML | 4 % & & MR | B8 &4 HH &4 R
# F 194 2,382,458 | 1,418 | 16,158,667 | 41.00 | 8,317 74,425,818 | 48.43 1 1,084 43 431,395 61.59
o = 3 29, 000 23 187, 300 0.48 190 1,739, 656 1.13 0 0 0 0/ 0.00
'+ 16 106, 500 83 715, 340 1.81 338 3,034, 563 1.97 0 0 0 0| 0.00
B MR 0 0 8 74, 400 0.19 52 516, 939 0.34 0 0 0 0| 0.00
E B 12 103, 400 83 975, 300 2.47 556 4,182, 446 2.72 0 0 0 0| 0.00
= 0 0 1 1, 000 0.00 13 134, 394 0.09 0 0 0 0| 0.00
W o 0 0 6 130, 000 0.33 47 674, 084 0.44 0 0 0 0| 0.00
A A 0 0 0 0 0.00 2 8,577 0.01 0 0 0 0| 0.00
& 7 I 0 0 1 2,000 0.01 25 531, 269 0.35 0 0 0 0| 0.00
Yy £ i 0 0 0 0 0.00 1 12,515 0.01 0 0 0 0| 0.00
=HER 0 0 1 8,000 0.02 9 53, 631 0.03 0 0 0 0| 0.00
=ERE 0 0 1 30, 000 0.08 17 207, 231 0.13 0 0 1 1,906| 0.27
=F1{55 0 0 0 0 0.00 0 0 0. 00 0 0 0 0| 0.00
7| BT H 0 0 0 0 0. 00 0 0 0. 00 0 0 0 0| 0.00
B 1E 238 2,147,540 | 1,463 | 13,102,250 | 33.24 | 6,885 42,429,696 | 27.61 3 19, 259 33 167,878| 23.97
& 23 268, 100 161 1, 497, 600 3.80 634 5,008, 365 3.26 0 0 1 2,894 0.41
= 3 14, 000 25 209, 500 0.53 186 1,118,997 0.73 2 6,638 3 7,161 1.02
" B 6 30, 000 25 193, 150 0.49 17 836, 799 0.54 0 0 1 11,764) 1.68
Sz 0 0 2 12,000 0.03 4 13,942 0.01 0 0 0 0| 0.00
N 495 5,080,998 | 3,301 | 33,296,507 | 84.48 | 17,393 | 134,928,921 | 87.81 6 26, 981 82 622,998 88.95
2 IE 120 689, 280 842 4,830,462 | 12.26 | 3,466 14, 261, 586 9.28 4 9,172 20 70,886| 10.12
BNz 4 33, 000 41 270, 500 0. 69 153 871,755 0.57 0 0 0 0| 0.00
Al®E % 6 19, 500 80 402, 200 1.02 320 1,198, 271 0.78 0 0 4 6,542| 0.93
| FME 12 79, 200 111 534, 750 1.36 621 2,043, 501 1.33 0 0 0 0| 0.00
E|l#8 & F 0 0 3 24, 000 0.06 7 32,237 0.02 0 0 0 0| 0.00
E€he 0 0 0 0 0.00 0 0 0. 00 0 0 0 0| 0.00
INE 142 820,980 | 1,077 6,061,912 | 15.38 | 4,567 18,407,349 | 11.98 4 9,172 24 77,427 11.05
8 R 7@ 0 0 0 0 0.00 0 0 0. 00 0 0 0 0| 0.00
B & 0 0 0 0 0.00 0 0 0. 00 0 0 0 0| 0.00
B — 21 0 0 1 5,000 0.01 7 20, 483 0.01 0 0 0 0| 0.00
B 5 ik E 0 0 0 0 0.00 0 0 0. 00 0 0 0 0| 0.00
B Htde 0 0 0 0 0.00 0 0 0. 00 0 0 0 0| 0.00
L 1 16, 000 5 50, 400 0.13 51 311,232 0.20 0 0 0 0| 0.00
BR &R 0 0 0 0 0.00 0 0 0. 00 0 0 0 0| 0.00
B EEE 0 0 0 0 0.00 0 0 0. 00 0 0 0 0| 0.00
0 0 0 0 0 0.00 0 0 0. 00 0 0 0 0| 0.00
N B 1 16, 000 6 55, 400 0.14 58 331,715 0.22 0 0 0 0| 0.00
& B 638 5,917,978 | 4,384 | 39,413,819 | 100.00 | 22,018 | 153,667,986 | 100.00 10 36, 153 106 700, 425] 100. 00
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% & A " % & # kb " % & iRk b % & H " % & K HE Rk b
[ 99 862, 108 686] 7,501,336 19. 03 3, 488 31,570, 447 20. 54 0 0 18 264, 630 37.78
ok T3 13 170, 644 90[ 1,059,020 2. 69 510 4, 920, 959 3. 20 0 0 5 75, 672 10. 80
Al i T 15 159, 000 96 1,114,712 2.83 411 4, 639, 630 3.02 0 0 5 131, 767 18.81
AL - AL T3 1 30, 000 23 303, 900 0.77 133 1,656,311 1. 08 0 0 0 0 0.00
FH - @A T¥ 2 17, 000 21 108, 850 0.28 95 544, 241 0.35 0 0 0 0 0. 00
MELE 4 85, 000 29 644, 000 1.63 189 2, 378, 546 1.55 0 0 0 0 0. 00
[T TS 0 0 2 12, 000 0.03 11 61,089 0. 04 0 0 1 6, 990 1.00
[ 0 0 5 114, 900 0. 29 16 353, 987 0.23 0 0 0 0 0. 00
A R T 0 0 0 0 0. 00 1 10, 000 0.01 0 0 0 0 0.00
AL TIAF vy T 2 11, 000 11 67, 740 0.17 59 542, 212 0.35 0 0 0 0 0. 00
EPN T TS 0 0 2 30, 000 0. 08 5 74, 005 0.05 0 0 0 0 0.00
BHTE 0 0 0 0 0.00 0 0 0. 00 0 0 0 0 0. 00
E¥ 3 24, 000 19 486, 640 1.23 117 1, 354,723 0.88 0 0 0 0 0.00
e 9 86, 000 67 875, 430 2.22 435 4,523, 863 2.94 0 0 2 12, 596 1.80
ERER T 2 8, 000 19 185, 000 0. 47 116 1, 365, 503 0. 89 0 0 0 0 0.00
il L3 0 0 5 38, 000 0.10 14 172, 621 0.11 0 0 0 0 0. 00
el L3 2 8, 500 14 129, 500 0.33 99 1, 133, 284 0.74 0 0 0 0 0.00
SRBILE 16 86, 600 103] 1,076, 400 2.73 449 3,651,926 2.38 0 0 5 37, 604 5.37
VI =T ¥ 10 62, 000 30 282, 300 0.72 130 995, 728 0. 65 0 0 0 0 0.00
TFRALEY— e 2 ¥ 0 0 0 0 0. 00 4 9, 167 0.01 0 0 0 0 0.00
FERRIE 0 0 3 81, 000 0.21 10 117, 670 0.08 0 0 0 0 0.00
Z O T3 20 114, 364 147 891, 944 2.26 684 3,064, 983 1.99 0 0 0 0 0. 00
[ * 0 0 0 0 0.00 0 0 0. 00 0 0 0 0 0.00
Y 1 5, 000 9 146, 500 0. 37 35 391, 222 0.25 0 0 0 0 0. 00
NEEEES 0 0 2 14, 000 0.04 5 37,011 0.02 0 0 1 830 0.12
FEEES 166] 1,531,200 1,142] 10,219, 065 25.93 5, 665 36, 339, 727 23. 65 2 11, 547 19 137, 750 19. 67
I 64 784, 100 444 5,397,536 13. 69 2, 200 18, 751, 393 12. 20 1 13, 405 17 168, 105 24. 00
N 107] 1,123,750 668 5,274,732 13.38 3,323 20, 925, 799 13. 62 6 10, 154 26 83, 492 11.92
- 41 235, 900 312 1,414,010 3.59 1,512 5,161, 844 3.36 0 0 15 26, 587 3.80
W E ¥ 12 98, 100 95 863, 640 2.19 551 4, 430, 596 2. 88 0 0 1 1,709 0.24
wOk ¥ 27 327, 000 179] 2,565, 540 6.51 981 11, 694, 358 7.61 0 0 0 0 0.00
St 0 0 0 0 0. 00 0 0 0. 00 0 0 0 0 0.00
S 0 0 2 20, 000 0.05 14 80,912 0.05 0 0 0 0 0.00
Py - BRI 0 0 2 8, 000 0.02 10 40, 619 0.03 0 0 0 0 0. 00
B A B - KGEE 1 3, 400 2 11, 400 0.03 48 324, 683 0. 21 0 0 0 0 0. 00
ED 6 89, 000 34 403, 500 1.02 176 1,434, 878 0.93 0 0 0 0 0. 00
LS 0 0 2 9, 500 0.02 20 147, 191 0. 10 0 0 0 0 0.00
P — b =¥ 110 838, 420 767] 5,362,710 13. 61 3, 850 21, 970, 683 14. 30 1 1,047 9 17, 322 2.47
[ e 3 24, 000 19 164, 460 0. 42 85 632, 514 0. 41 0 0 1 956 0.14
(IR S 4 70, 000 16 246, 500 0.63 126 1, 655, 039 1.08 0 0 0 0 0.00
VeIl - PR - UK 14 35, 600 99 407, 900 1.03 555 1,919, 596 1.25 1 1,047 2 3,941 0. 56
Z DA o> A TG B Y — A 1 5,000 11 53, 900 0.14 79 783, 579 0.51 0 0 0 0 0.00
fik 17 ¥ 1 5, 000 5 20, 500 0.05 26 123, 047 0. 08 0 0 0 0 0.00
IR+ B HE 0 0 12 44, 260 0.11 63 317, 990 0.21 0 0 0 0 0.00
NS 2 43, 000 15 162, 300 0.41 109 667, 425 0.43 0 0 0 0 0. 00
S 3 0 0 0 0 0. 00 2 1,001 0. 00 0 0 0 0 0.00
HWEE -2 ¥ 0 0 3 37, 000 0. 09 29 98, 065 0. 06 0 0 0 0 0. 00
S — e A% 1 10, 000 10 106, 000 0.27 37 211, 305 0. 14 0 0 0 0 0. 00
WEEARIT - BB RIS 0 0 2 15, 000 0.04 18 64, 657 0.04 0 0 0 0 0. 00
ZOMOFHE) — bR 9 151, 500 80 614, 740 1.56 343 1,936, 343 1.26 0 0 1 1,281 0. 18
Hpp—e 2 ¥ 15 66, 140 87 262, 440 0.67 441 932, 911 0.61 0 0 1 260 0.04
B —e 2% 12 55, 000 72 320, 300 0.81 341 1,344, 618 0.88 0 0 1 108 0.02
i = 29 239, 200 238] 2,182,100 5.54 1,086 8, 380, 926 5.45 0 0 3 10, 777 1.54
BEFE LI 6 81, 000 38 412, 230 1.05 238 1,629, 177 1.06 0 0 0 0 0.00
HE - R 5 14, 100 31 183, 300 0. 47 117 629, 768 0.41 0 0 0 0 0. 00
Z oo — b ¥ 8 38, 880 29 129, 780 0.33 155 642, 722 0. 42 0 0 0 0 0. 00
TREBBEIMRILE 3 15, 000 30 146, 850 0. 37 117 274,918 0.18 0 0 0 0 0. 00
EECE 0 0 0 0 0. 00 0 0 0. 00 0 0 0 0 0.00
S 0 0 0 0 0.00 0 0 0. 00 0 0 0 0 0.00
A2 =3y MR — X 1 5, 000 8 55, 500 0.14 23 91,705 0. 06 0 0 0 0 0. 00
B Hi 638] 5,917,978 4,384] 39,413,819 100. 00 22,018] 153, 667, 986 100. 00 10 36, 153 106 700, 425 100. 00
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R i & 5= RIEIBEEES
E A e e A x e A x
IS B g £ 28 | R | BF | = 26 | FERLEE
1000LLF 50 45, 344 416 374, 066 0.95 2,218 1,077,575 0.70
10002 2000LLTF 75 132, 200 562 1,004, 555 2.55 2,516 2,624,796 1.71
2000#2 3000LLTF 85 2472 850 639 1,840,076 4.67 2,776 4 751,934 3.09
30008 5000LLF 206 980, 000 1, 303 6,172, 040 15. 66 5, 698 16, 448, 532 10. 70
50002 10000LLF 91 830, 540 632 5,487, 540 13.92 3,379 18, 270, 396 11.89
100002 15000LLF 33 447,944 180 2,449,180 6. 21 1,175 10, 123, 243 6.59
150002 20000LLF 31 587, 500 180 3,442, 562 8.73 1,101 13, 353, 659 8.69
20000#8 30000LLF 32 885, 000 245 6,827, 200 17.32 1, 481 25,792, 621 16. 78
300008 50000LLF 27 1,191, 600 170 7,445,000 18. 89 1,077 31,071,994 20.22
50000#8 60000LLTF 3 180, 000 16 936, 000 2.37 171 6, 398, 664 4.16
600002 70000LLF 0 0 11 726, 000 1.84 110 5,054, 687 3.29
700002 80000LLF 5 395, 000 23 1,810, 600 4.59 215 10, 583, 819 6. 89
80000;2100000LL T 0 0 3 285, 000 0.72 39 2,165, 496 1. 41
100000;£2120000LL 0 0 1 104, 000 0.26 15 1,236, 642 0.80
120000#2150000LL F 0] 0 1 150, 000 0.38 12 931, 837 0.61
150000;£200000LL 0 0 2 360, 000 0. 91 29 3,782, 091 2.46
2000002 0] 0 0 0 0.00 0 0 0.00
& £t 638 5,917,978 4, 384 39,413,819] 100.00f 22,018 153,667,986 100. 00
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&R H & = REMEBEERS
El A th e J5] x El A x
H #% £ 2B H | £ 2O BERE | B B £ 28 | HERtE
N8B LA 8 39, 500 27 455, 000 1.15 13 138, 500 0.09
ShE#E 6hIBLLTF 14 210, 000 66 843, 300 2.14 54 662, 482 0.43
6hAFE 1HELT 18 198, 800 113 1,783,116 4.52 168 2,868, 721 1.87
1WERE 20FLUTF 19 71,044 119 998, 250 2.53 321 2,566, 511 1.67
2R NELLTF 34 91, 380 279 813, 560 2.06 1,249 2,272,404 1.48
SNERE AELT 20 118, 764 95 430, 536 1.09 471 1,858, 951 1.21
AhERE SHELLTF 356 1,887, 390 2,466 12,045, 310 30.56| 12,364 41,183, 424 26. 80
bhERE THELLTF 97 1, 604, 500 708 10, 225, 650 25.94 3, 846 39, 185, 642 25.50
THhERE 10hELLTF 69 1,634, 600 480 11, 005, 697 27.92 3, 255 55, 523, 086 36. 13
[VESH 3 62, 000 31 813, 400 2.06 271 7,408, 266 4. .82
& 5t 638 5,917,978 4 384 39,413,819 100.00|] 22,018] 153,667,986 100. 00
i 5% AR RER R (B4 - FH)
%® H & 7= RIABEEES
e A e = A X e A X
H % = B % & £ 28 | R | B ] £ 8 | At
E i B £ 552 5,447, 408 3, 761 36, 058, 349 91.49( 19,148 137,985, 587 89. 79
x B B £ 38 184,170 326 1,517,110 3.85 1,839 10, 168, 854 6.62
EESEREES 48 286, 400 297 1,838, 360 4.66 1,031 5,513, 545 3.59
= gt 638 5,917,978 4 384 39,413,819 100.00] 22,018] 153,667, 986 100. 00




